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2007 distomats 2,3 failures (T4)
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X +,

+ e ]
% o
X 4
* X, H
+ —
b i
% i
X KK B XX KK Sk
X i
X X -
| I | I ]
0 100 300

az




dec 2007 distomats 1,6 failures (T12)  * DIST1 + DIST6 GoodDist:0
SR ‘ N

25 " L | _
- XK HKK .
200 X \ ]
C X | ]
C | ]
> 15— % \ g ¥ —]
S X | KX ]
Q _ * ! ¥ _
N ¥ X | ]
107 | % ¥ ¥ | >‘<¥ 7
- X >¢<: e |
| ]
faill: 1406 » ]
fail2: 1452 RSO N X ]
fails: 2429 0 100 200 300
fail4: 518 oz
fail5: 375 dec 2007 distomats 2,3 failures (T4)  * DIST2 + DISTS
fail6: 322 250 T T T e Wk W w o & ]
totBad 2829 o B
totCnt21916 o0l— ]
C ]
> 15— ]
() [ —
s L ]
8 - -
= 10 ]
az
dec 2007 distomats 4,5 failures (78)  * DIST4 + DISTS
257 I T T T T T “ T T T I T T T T T T T T T I T T T “ T T >‘!‘ T I T T T T T T ]
O xX KK L XX XK RN xX *X e
- \ ¥ + ! .
20— |+ A 4 -+ | -
N | % o ]
I : X : ]
> 15— —
o L | x % * K x w ]
5 ¥ % H ¢ ]
°o L \ | i
= 0 \% X | x ]
. | X | ’
L | | _
o \ % \ % X
B ! K X ! B
B ‘ ¥ + * ]
0w | | ﬁ% X ?K , X | N e = ﬁ , \% il
0 100 200 300

az



